BIOLOGY PAPER 1 (231/1)

MARKING SCHEME
1. State the significance of the fo]_ldwing'charaél‘ier‘isti-cs of living organisms. (2marks)
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2. The scientific name lantana camara refers to a green herbaceous plant. Other related plants
include lantana trifoliate and vitex trifc/inte. From the list, identify the plants belonging to the same

genus, . e (2marks)
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3. Which cell organelle will be abundant in: (2marks) :
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4. An experiment was set up as shown below. The set up was left for 30 minutes.
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i. State the observations made after 30 minutes. AR 3 - . (Imark)
............ . “V .*A‘.‘.LS. * Jb»L‘ﬁ ke caimn S‘-—’Q\ l@"\/ Lang, xe.&@ I =y .%Ctm/\m s rra _;
il. Explain the obseryations made in (i) above. Eis 4 (3marks),_
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5. The diagram below represents a section though a human tooth

( I mark)
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| (b) State the functions of the structures found in part labeled J (2 marks)
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6. Describe what happens during the light stage of photosynthesis (3 mark§
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a. Name the structures labeled R, S and a cell labeled T (3amrks)
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b. State the function of the structure labeled S, (1mark)
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8. a) What pre-vénts blood in veins from ﬂowihg back wards? (Imark)
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b) State two Ways_ in which the red blood cells are adapted to their functions. (2ma;ks)
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9. Differentiate between Active immunity and Passive immunity, (Zmarks) o <
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10. State three_lg"égeo_ CHEDin v i (3marks)
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I'1. Give two reasons w ¥ accumulation of lactic acid during vigorous exercise leads to an inérease

in heart beat, i : (2marks)
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12. The diagram below illustrates part of & Nephron from a mammalian kidney.




a. Name the fluid in the part labeled Q (Imark) .
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b. Identify the process responsible for the formation of the fluid named in (a) above.  (Imark)
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13. Give one economic importance of the following plant excretory product. ~ (Imark)

i. Tannins

...... _"r»eqkm.ceeﬂg(zsﬁhwd

— Sprmetd on v Lol pute R g RULTTIRER e Gl patb s

14. The diagram below represents a living organism, ' :

B\ ERALES .‘""*”"J""-"""-—“‘-Lux.

B,

...........................................................................................................

£ Condmehle Vacuole

R T T

LR R i PR R LM Sk e b e e e S S b e R e R O A st e

b. Identify the kingdom of the above organism. , (Imark)
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¢. Give a reason for your answer in (b) above (1mark)
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15. Name the phylum, whose members posses a notochord. (1mark)
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16. Define the following terms; (3marks)
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g AL what trophic level is DDT most likely to have the highest marked effect? (Imark)
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b. Suggest two ways in which the birds might have come into contact with DDT (2marks)

FEdiras s te e

..........................................................................................................................



18. Study the diagram that follow and use it to answer the questions that follow:
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19. Explain how the following factors hinder self-pibili'na.tion in plants. (2Zmarks)
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20. a) Name the part of the flower that develops into each of the following (2m.arks)
i. Seed coat.
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b) State two environmental conditions that can cause seed dormancy . . (2marks) -
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¢) State two ways of breaking seed dorm ncy & (2marks)
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- d) Give one role of water in germination £ 3 ~ (Imark)
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21. Define the following terms as used in genetics. (3marks)
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22. State two sex-linked traits located on the Y-chromosome 2 = (2marks)
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24, State _fhree types of neurons €\ 1ty Ve aplidtig o et Noveat. (3marks)
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25. Name the stimuli which causes the following types of responses (3marks)

i. Phototropism ‘
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26. Differentiate between support and movement (Zmarks)
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THE END



